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SECONDARY SCHOOL EXAMINATION – 2021 (ANNUAL) 

Model Set 

COMMERCE (Additional)

Time : 3 H 15 Minutes         Full Marks : 100 

Total No. of Questions : 100 + 30 + 8 =138  

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfgus vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl iz’u i= dks /;kuiwoZd i<+us rFkk funsZ’kksa dk vuqikyu djus ds fy, 15 

feuV dk vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time has been allotted to read the questions 

and follow the instructions carefully. 

4- ;g iz’u&i= nks [k.Mksa esa gS]   

Sub. Code - 115 
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This question paper is divided into two sections : Section-A, and 

Section-B. 

5- [k.M&v esa 100 oLrqfu"B iz’u gSa] ftlesa dsoy 50 iz’uksa dk mÙkj nsuk vfuok;Z 

gSA 50 ls vf/kd mÙkj fn, tkus dh fLFkfr esa izFke 50 mÙkjksa dk gh ewY;kadu 

dEI;wVj }kjk fd;k tk,xkA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA lgh mÙkj 

dks miyC/k djk, x,  OMR&mÙkj i=d esa fn;s x;s lgh o`Ùk dks dkys@uhys 

ckWy isu ls HkjsaA fdlh Hkh izdkj ds OgkbZVuj@rjy inkFkZ@CysM@uk[kwu vkfn 

dk mŸkj if=dk esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 100 objective type questions, Answer any 

50 questions only. First 50 answers will be evaluated by the 

computer in case more than 50 questions are answered. Each 

question carries 1 mark. Darken the circle with black/blue ball pen 

against the correct option on OMR Answer sheet provided to you. 

Do not use Whitener/Liquid /Blade/Nail on OMR Sheet, otherwise 

the result will be treated as invalid. 

6-  esa 30 y?kqmÙkjh; iz’u gSa] ftuesa ls fdUgha 15 iz’uksa dk mŸkj nsuk 

vfuok;Z gSA izR;sd ds fy, 2 vad fu/kkZfjr gSA buds vfrfjDr bl [k.M esa 8 

nh?kZ mÙkjh; iz’u fn;s x; gSa] ftuesa ls fdUgha 4 iz’uksa dk mÙkj nsuk gSA izR;sd 

iz’u ds fy, 5 vad fu/kkZfjr gSaA 

In Section-B, there are 30 short answer type questions. Out of 

which any 15 questions are to be answered. Each carrying 2 
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marks. Apart from these, there are 8 Long answer type 

questions, out of which any 4 questions are to be answered. 

Each question carries 5 marks. 

7- fdlh izdkj ds bysDVªkWfud midj.kksa dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited.

 Section A

Objective Type Question

iz’u la[;k 1 ls 100 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftlesa ls ,d 

lgh gSA vius }kjk pqus x, 50 iz’uksa ds lgh fodyi dks OMR 'khV ij fpfUgr djsaA 

           50 x 1 = 50 

Questions No. 1 to 100 have four options, out of which only one is correct. 

You have to mark, your selected options of 50 questions on the OMR-sheet.

           50 x 1 = 50 

1- iw¡th ¾ dqy lEifÙk;k¡ & -------------------------------- \ 

A- vk;     B- O;;  

C- ckg~; nkf;Ro   D- vkxe 

Capital = total assets & ……………………. ? 

A. Income    B. Expenditure 

C. Outside Liabilities  D. Revenue 
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2- jkstukepk ì"B la[;k] fn[kk;k tkrk gS % 

A- jkstukepk esa   B- [kkrk ogh esa 

C- ryiV esa    D- fpV~Bk esa 

Journal Folio appears in : 

A. Journal    B. Ledger 

C. Trial Balance   D. Balance-sheet 

3- ldy ykHk ¾ \ ;fn 'kq) fcØh ¾ 1]00]000 rFkk ldy ykHk 20 izfr’kr 

foØ; ij gSA 

A. 75]000     B- 25]000  

C. 80]000     D- 20]000  

If net sales = 1,00,000 and gross profit = 20 % on sales, Gross 

Profit = ?  

A. 75,000   B. 25,000 

C. 80,000   D. 20,000 

4- O;kikfjd [kkrk esa tek dh vf/kdrk dks dgrs gSa %& 

A- 'kq) ykHk    B- 'kq) gkfu  

C- ldy ykHk    D- ldy gkfu 

Excess of credit in trading account is called :- 
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A. Net Profit    B. Net Loss 

C. Gross Profit   D. Gross Loss 

5- vpy lEifÙk esa 'kkfey gS % 

A- Hkou     B- Hkwfe 

C- e’khu    D- mijksDr lHkh 

Fixed Assets include : 

A. Building    B. Land 

C. Machinery   D. All of the above 

6- th0 ,l0 Vh0 ifj"kn~ }kjk fu/kkZfjr th0 ,l0 Vh0 dh njsa gSa %& 

A- 5%, 12%, 18%, 28%  B. 6%, 10%, 20%, 30% 

C. 3%, 6%, 9%, 12%  D- buesa ls dksbZ ugha 

GST rates as prescribed by GST council are :- 

A. 5%, 12%, 18%, 28%  B. 6%, 10%, 20%, 30% 

C. 3%, 6%, 9%, 12%  D. None of these 

7- O;kolkf;d nqdku ds ekfyd }kjk futh mi;ksx ds fy;s j[ks x;s eky ds fy, 

uke ¼MsfcV½ gksrk gS %& 

A- Lokeh dk [kkrk   B- iw¡th [kkrk 

C- vkgj.k [kkrk   D- buesa ls dksbZ ugha 
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The goods taken for private use by the proprietor from the 

business shop are debited to : 

A. Proprietor’s A/C   B. Capital A/C 

C. Drawings A/C   D. None of these 

8- fuEufyf[kr esa ls dkSu&lh en O;kikj [kkrs ds tek Hkkx esa fy[kh tkrh gS \  

A- izkjafHkd jgfr;k   B- Ø; 

C- foØ;    D- dks;yk] ikuh ,oa xSl 

Which of the following items is written in the credit side of Trading  

Account - 

A. Opening Stock   B. Purchases 

C. Sales    D. Coal, water & gas 

9- rhu [kkus okyh jksdM+ ogh dk cSad [kkus dk gks ldrk gS & 

A- uke vkf/kD;   B- tek vkf/kD; 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 

Bank column of the three column Cash-Book may have - 

A. Debit Excess   B. Credit Excess 

C. Both (A) and (B)  D. None of these 

10- jksdM+ cgh ds [kkus gksrs gSa & 

A- jkstukepk dh rjg   B- [kkrk dh rjg 
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C- A vkSj B nksuksa dh rjg  D- buesa ls dksbZ ugha 

The Cash-Book columns are like a - 

A. Journal    B. Account 

C. Both (A) and (B)  D. None of these 

11- [kqnjk jksdM+ ogh fy[kus ds fy, j[kk tkrk gS % 

A- [kqnjk udn izkfIr;ksa dks  B- [kqnjk udn Hkqxrku dks 

C- A vkSj B nksuksa dks   D- buesa ls dksbZ ugha 

Petty Cash-Book is maintained to record - 

A. Petty cash receipts  B. Petty cash payments 

C. Both A and B   D. None of these 

12- nksgjk ys[kk iz.kkyh ds ykHk gSa % 

A- oSKkfud iz.kkyh   B- foÙkh; fLFkfr dk Kku 

C- fofHkUu [kkrksa dh tkudkjh D- mijksDr lHkh 

Advantages of double entry system are - 

A. Scientific System   

B. Knowledge of Financial Position 

C. Knowledge of Different Accounts    

D. All of the above 
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13- vO;fDrxr [kkrksa dks oxhZdr̀ fd;k tk ldrk gS %& 

A. pkj Hkkxksa esa    B- vkB Hkkxksa esa 

C. nks Hkkxksa esa    D- buesa ls dksbZ ugha 

Impersonal accounts may be classified into :- 

A. Four parts    B. Eight parts 

C. Two parts    D. None of these 

14- ,d O;fDr dks ftls QeZ us :Ik;k nsuk gS] dgykrk gS & 

A- ysunkj    B- nsunkj 

C- cSadj     D- buesa ls dksbZ ugha 

A person to whom money is owed by a firm is called - 

A. Creditor    B. Debtor 

C. Banker    D. None of these 

15- eky dk vFkZ gS & 

A- ensa ftudk miØe O;kikj djrh gS 

B- lEifÙk ds :Ik esa iz;ksx dh tkus okyh ensa 

C- A vkSj B nksuksa 

D- buesa ls dksbZ ugha 

The meaning of goods is - 
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A. Items in which the enterprise deals 

B. Items to be used as an asset 

C. Both A and B     

D. None of these 

16- fuEufyf[kr esa dkSu&lk vk; ugha gS \ 

A- deh’ku izkIr fd;k   B- cV~Vk izkIr fd;k 

C- C;kt izkIr fd;k   D- iwath izkIr fd;k 

Which of the following is not an income ? 

A. Commission received  B. Discount received 

C. Interest received  D. Capital received 

17- uke&ek= [kkrs dk MsfcV 'ks"k iznf’kZr djrk gS %& 

A- vk;     B- O;; 

C- lEifÙk;k¡    D- buesa ls dksbZ ugha 

Debit balance of nominal account shows :- 

A. Income    B. Expenses 

C. Assets    D. None of these 

18- tuZy rS;kj djrs le; mlesa fdrus [kkus cuk,a tkrs gSa \ 

A- 7     B- 5 
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C- 3     D- 4 

How many columns are made while preparing a journal ? 

A. 7     B- 5 

C- 3     D- 4 

19- [kkrk ogh eq[;r% tkuh tkrh gS &  

A- [kkrksa dh xkS.k cgh   B- [kkrksa dh eq[; cgh 

C- [kkrksa dh lgk;d cgh  D- buesa ls dksbZ ugha 

Ledger Book is basically known as : 

A. Secondary Books of Account 

B. Principal Books of Account 

C. Subsidiary Books of Account 

D. None of these 

20- fcØh cgh dk mi;ksx vfHkys[ku gsrq fd;k tkrk gS % 

A- eky ds lHkh foØ;   

B- lHkh m/kkj foØ; 

C- eky dks NksM+dj lEifÙk;ksa ds lHkh m/kkj foØ;  

D- eky ds lHkh m/kkj foØ; 

Sales Books is used to record - 

A. All sales of goods 
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B. All credit sales 

C. All credit sales of Assets other than goods 

D. All credit sales of goods 

21- fuEufyf[kr esa ls dkSu ewy izfof"V dh iqLrd gS rFkk [kkrk cgh dk Hkkx Hkh 

gS& 

A- jkstukepk    B- jksdM+ cgh 

C- Ø; cgh    D- foØ; cgh 

Which of the following is a book of original entry and also part of 

the ledger. 

A. Journal    B. Cash Book 

C. Purchase Book   D. Sales Book 

22- ryiV dk feyuk crkrk gS & 

A- cgh [kkrk dh 'kq)rk    

B- iqLrdksa dh vadxf.krh; 'kq)rk 

C- [kkrk iqLrdksa dk mfpr j[k&j[kko  

D- buesa ls dksbZ ugha 

Agreement of Trial Balance indicates - 

A. Accuracy of Book-Keeping 

B. Arithmetical Accuracy of Books 
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C. Proper maintenance of Books of Accounts 

D. None of these 

23- fcy ds Hkqxrku ds fy, fdrus fnu fj;k;rh fnu ds :Ik esa fn, tkrs gSa\ 

A- 2     B- 3 

C- 4     D- 1 

How many days are allowed as days of grace for payment of a 

bill? 

A. 2     B- 3 

C- 4     D- 1 

24- jksdM+ cgh esa dkSu ls ysu nsu ugha fy[ks tkrs gSa & 

A- udn izd`fr ds   B- m/kkj izd`fr ds 

C- udn ,oa m/kkj izdf̀r ds  D- buesa ls dksbZ ugha 

Cash Book does not record transaction of - 

A. Cash nature   B. Credit nature 

C. Cash and Credit nature D. None of these 

25- O;kikj esa dqy nkf;Ro 6]00]000 ds rFkk dqy lEifÙk 9]00]000 dh gS rks chp 

ds vUrj dks dgsaxs & 

A- iw¡th     B- O;; 

C- gkfu     D- ykHk 
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Total liabilities 6,00,000 and total assets are 9,00,000 then 

difference between both will be called - 

A. Capital     B. Expenses 

C. Loss    D. Profit 

26- fdlh [kkrk ds 'ks"k dks tkuus dh izfØ;k dks dgrs gSa & 

A- [krkSuh    B- ;ksx djuk 

C- lek;kstu    D- 'ks"k fudkyuk 

The process of finding out the balance of an account is called - 

A. Posting    B. Totalling 

C. Adjustment   D. Balancing 

27- bu [kkrksa esa dkSu uke 'ks"k fn[kkrk gS \ 

A- e’khujh [kkrk   B- NwV Lohd`r [kkrk 

C- etnwjh [kkrk   D- buesa ls lHkh 

Which of these accounts show debit balance ? 

A. Machinery A/C   B. Discount allowed A/C 

C. Wages A/C   D. All of these 

28- fofue; fcy fy[kus okys O;fDr dks dgk tkrk gS & 

A- ys[kd    B- vnkdrkZ 

C- vknkrk    D- buesa ls dksbZ ugha 
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The person who write the bill of exchange is known as - 

A. Drawer    B. Drawee 

C. Payee    D. None of these 

29- cgh [kkrk dk eq[; mís’; gS & 

A- O;olkf;d ysu&nsuksa dks fy[kuk B- [ksy lEcU/kh dk;ksZa dks djuk 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 

Main objective of ledger is - 

A. Recording of business transactions 

B. Doing work related to sports 

C. Both A and B 

D. None of these 

30- NwV dk iz;ksx fd;k tkrk gS & 

A- le>kSrk ds le;   B- Hkqxrku ds le; 

C- A ,oa B nksuksa   D- buesa ls dksbZ ugha 

Discount is used at the time of - 

A. Agreement   B. Payment 

C. Both A & B   D. None of these 

31- Fkksd O;kikjh eky csprs gSa & 

A- lh/ks miHkksDrk dks   B- QqVdj O;kikfj;ksa dks 
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C- miHkksDrkvksa dks Mkd ds }kjk D- mijksDr lHkh 

Wholesalers sell goods - 

A. Directly to consumers   B. To retailers 

C. To consumers through post  D. All the above 

32- fuEu esa ls dkSu lk O;kolkf;d vfuf’prrk dk mnkgj.k gS & 

A. HkwdEi    B- lw[kk 

C- ewY;ksa esa ifjoÙkZu   D- fgeikr 

Which of the following is an example of business uncertainty - 

A. Earthquake   B. Draught 

C. Change in Prices  D. Snow Fall 

33- og dke ftlesa iw¡th dh vko’;drk ugha gksrh gS] tkuk tkrk gS & 

A- jkstxkj     B- O;olk; 

C- is’kk     D- A vkSj B nksuksa 

The occupation in which there is no need of capital is known as - 

A. Employment   B. Business 

C. Profession   D. Both A and B 

34- ^^ykHk dk c¡Vokjk ugha fd;k tkrkA** ;g dFku crkrk gS & 

A- lk>snkjh    B- dEiuh 

C- la;qDr fgUnq ifjokj O;olk; D- ,dkdh O;olk; 

“Profit do not have to be shared”. This statement refers to - 
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A. Partnership    B. Company 

C. Joint Hindu Family Business D. Sole proprietorship 

35- O;olk; ¾ 

A- m|ksx $ okf.kT;    

B- m|ksx $ O;kikj  

C- O;kikj $ okf.kT;     

D- O;kikj $ O;kikj dh lgk;d fØ;k,¡ 

Business = 

A. Industry + Commerce  B. Industry + Trade 

C. Trade + Commerce  D. Trade + Aids to Trade 

36- fuEu esa ls vo;Ld lk>snkj dk nkf;Ro dkSu lk gksrk gS \ 

A- vlhfer    B- lhfer 

C- dksbZ nkf;Ro ugha   D- buesa ls dksbZ ugha 

Which of the following is the liability of a minor partner ? 

A. Unlimited    B. Limited 

C. No Liability   D. None of these 

37- fuEu esa ls D;k bySDVªkWfud cSafdax ds vUrxrZ ugha vkrk gS \ 

A- bySDVªkWfud Q.M gLrkarj.k B- Lopkfyr Vsyj e’khu 

C- MsfcV dkMZ    D- vf/kfod"kZ 
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Which of the following does not come under Electronic Banking ? 

A. Electronic Fund Transfer B. Automated Teller Machine 

C. Debit Card   D. Overdraft 

38- ml laxBu ds izdkj dks igpkfu, ftlesa LokfeRo ,oa izca/k ìFkd gksrs gSa & 

A- ,dy LokfeRo   B- lk>snkjh 

C- daiuh    D- buesa ls dksbZ ugha 

Identify the type of organisation which ensures separation of 

ownership and management - 

A. Sole Proprietorship  B. Partnership 

C. Company    D. None of these 

39- NksVs O;olk; lgk;d gSa & 

A- vf/kd jkstxkj   B- vkfFkZd etcwrh 

C- A vkSj B nksuksa   D- Hkz"Vkpkj 

Small business is helpful in - 

A. More employment  B. Economic strength 

C. Both A and B   D. Corruption 

40- uSfrdrk egRoiw.kZ gS %& 

A- mPp Lrjh; izca/k ds fy,  B- e/; Lrjh; izca/k ds fy, 

C- xzkgdksa ds fy,   D- buesa ls lHkh 
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Ethics is important for :- 

A. High Level Management B. Middle Level Management 

C. Customers   D. All of these 

41- cgqla[;d nqdkuksa ij oLrq,¡ csph tkrh gSa %& 

A- dsoy udn    B- dsoy m/kkj 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 

In multiple shops goods are sold on :- 

A. Only Cash   B. Only Credit 

C. Both A and B   D. None of these 

42- de iwath ls izkjaHk fd;k tkus okyk O;olk; gS %& 

A- mRiknu okys O;olk;  B- Fkksd O;olk; 

C- QqVdj O;olk;   D- buesa ls dksbZ ugha 

Business which starts with less capital is :- 

A. Manufacturing business B. Wholesale business 

C. Retail business   D. None of these 

43- HkaMkj x`g dk ekfyd gksrk gS %& 

A- ,dkdh O;fDr   B- lk>snkjh QeZ 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 
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The owner of the warehouse is :- 

A. Sole Trader   B. Partnership Firm 

C. Both A and B   D. None of these 

44- Lkgdkjh lfefr dk eq[; mís’; gS %& 

A- ykHk     B- lsok 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 

The main objective of co-operative society is :- 

A. Profit    B. Sevice 

C. Both A and B   D. None of these 

45- ,d lkoZtfud dEiuh esa lnL;ksa dh U;wure la[;k gS %& 

A. 2     B- 3  

C- 5     D- 7 

The minimum number of members in a public company is :- 

A. 2     B- 3  

C- 5     D- 7 

46- 256-5 ÷ 225 dk ;FkkZFkeku 1 n’keyo LFkku rd gksxk %& 

A- 11     B- 1-1 

C- 0-1     D- 0-11 

The value fo 256.5 ÷ 225 correct to 1 decimal place will be :- 
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A. 11     B- 1-1 

C- 0-1     D- 0-11 

47- 9403420-71 dks lkS ds lfUudV djus ij gksrk gS %& 

A- 9403420    B- 9403400 

C- 9403500    D- 9403421 

The value of 9403420.71 is nearest to hundred :- 

A. 9403420    B- 9403400 

C- 9403500    D- 9403421 

48- 0-005389 x 4673-9 dk ekud :Ik gksxk \ 

A- 5.389 x 4.6739   B. 5.389 x 4673900 

C. 0.000005389 x 4.6739 D. 0.05389 x 467.39 

The standard form of 0.005389 x 4673.9 will be ? 

A. 5.389 x 4.6739   B. 5.389 x 4673900 

C. 0.000005389 x 4.6739 D. 0.05389 x 467.39 

49- fuEufyf[kr vuqikrksa esa ls dkSu&lk mruk gh gS ftruk fd 4 % 5 %& 

A- 10 % 15    B- 12 % 15 

C- 15 % 12    D- 15 % 20 

Which one of the following ratios is the same as 4 : 5 :- 
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A. 10 % 15    B- 12 % 15 

C- 15 % 12    D- 15 % 20 

50- ;fn 100 oLrqvksa dk ewY; 1060-80 gS] rks 101 oLrqvksa dk ewY; gksxk % 

A. 10]608    B- 1071-41 

C. 10]748    D- 10]71]408 

If price of 100 articles is 1060.80, then the price of 101 articles 

will be : 

A. 10]608    B- 1071-41 

C. 10]748    D- 10]71]408 

51- ;fn 10 fdyksxzke I;kt dh dher 80 gS] rks 16-5 fdyksxzke dh dher gksxh % 

A. 13-20    B- 128 

C. 1320    D- 132 

If the price of 10 kg. onion is 80, then the price of 16.5 kg will be : 

A. 13.20    B. 128 

C. 1320    D. 132 
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52- ,d Vh0 oh0 lsV dk lwpuh ewY; 18]000 gS] Vh0 oh0 fuekZrk vius Mhyj dks 

20 izfr’kr O;kikfjd cV~Vk nsrk gSA 100 Vh0 oh0 lsV dk chtd ewY; crkb,%& 

A. 14]40]000   B- 16]20]000 

C. 11]53]000   D- buesa ls dksbZ ugha 

The list price of a T.V. set is 18,000. T.V. manufacturer gives 

20% trade discount to his dealers. Find the invoice price of 100 

T.V. sets : 

A. 14,40,000   B. 16,20,000 

C. 11,53,000   D. None of these 

53- 4 izfr’kr okys 5500 ds LVkWd dk okf"kZd ykHkka’k D;k gksxk \ 

A. 200    B- 220 

C. 120    D- 550 

What is the annual dividend of 4% stock of 5500 ? 

A. 200    B. 220 

C. 120    D. 550 

54- 250 dk 3 izfr’kr ¾ \ 
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A. 7-50    B- 4-50 

C. 2-50    D- 75 

3% of 250 = ? 

A. 7.50    B. 4.50 

C. 2.50    D. 75 

55- 4-356897] 325-43267] 0-005342 vkSj 0-3208 dk ;ksxQy nks n’keyo LFkku 

rd D;k gksxk %& 

A. 334-14    B- 330-12 

C. 332-15    D- buesa ls dksbZ ugha 

The Sum of 4.356897, 325.43267, 0.005342 and 0.3208 upto two 

decimal places will be :- 

A. 334.14    B. 330.12 

C. 332.15    D. None of these 

56- ;fn 100 ¾ 136 ekdZ vkSj 400 ekdZ ¾ 95 MkWyj rks 12]000 s cjkcj fdruk 

MkWyj gksxk \ 

A. 3800 MkWyj    B- 3876 MkWyj 

C. 387-6 MkWyj    D- buesa ls dksbZ ugha 
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If 100 = 136 Mark, 400 Mark = 95 Dollar, then how many Dollars 

will be equivalent to 12000 ? 

A. 3800 Dollar   B. 3876 Dollar 

C. 387.6 Dollar   D. None of these 

57- 1@20 dk izfr’kr gksxk %& 

A. 50%    B. 5%  

C. 20%    D- buesa ls dksbZ ugha 

Percentage of 1/20 is :- 

A. 50%    B. 5%  

C. 20%    D. None of these 

58- 3877 ehVj cjkcj gS %& 

A. 3-877 fdyksehVj dk  B- 3-8 fdyksehVj dk 

C. 3-87 fdyksehVj dk  D- 2 fdyksehVj dk 

3877 metre is equal to :- 

A. 3.877 KM    B. 3.8 KM 

C. 3.87 KM    D. 2 KM 

59- 400 % 800 ,oa 1200 dk U;wure vuqikr gS %& 
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A. 4 % 8 % 12    B- 8 % 16 % 24 

C. 6 % 9 % 12    D- 1 % 2 % 3 

Lowest ratio of 400 : 800 and 1200 is :- 

A. 4 % 8 % 12    B- 8 % 16 % 24 

C. 6 % 9 % 12    D- 1 % 2 % 3 

60- 8 izfr’kr dh nj ls 5]000 dk 2 o"kZ ds fy, lk/kkj.k C;kt gksxk %& 

A. 100     B- 800  

C. 80      D- 400  

The simple interest on 5,000 @ 8% for 2 year will be :- 

A. 100    B. 800 

C. 80     D. 400 

61- buesa fdu ij ljdkjh fu;a=.k ugha gksrk gS \ 

A. dEiuh    B- ,dy O;olk;  

C. fuxe    D- buesa ls dksbZ ugha 

Which of the following have no government control ? 

A. Company    B. Sole trade 
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C. Corporation   D. None of these 

62- cSafdax O;olk; esa lk>snkjksa dh U;wure la[;k gksrh gS %& 

A. 10     B- 20 

C. 2     D- buesa ls dksbZ ugha 

Minimum number of partners in Banking business is :- 

A. 10     B- 20 

C. 2     D. None of these 

63- vkfFkZd fØ;k,¡ gSa %& 

A. O;kikj $ is’kk   B- O;olk; $ jkstxkj  

C. is’kk $ jkstxkj   D- O;olk; $ jkstxkj $ is’kk 

Economic activities are :- 

A. Business + Profession  

B. Business + Employment 

C. Profession + Employment  

D. Business + Employment + Profession 

64- vkbZ0 Mh0 ch0 vkbZ0 gS %& 

A. okf.kfT;d cSad   B- lgdkjh cSad  
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C. fodkl cSad    D- fo’ks"kK cSad 

IDBI is :- 

A. Commercial Bank  B. Co-operative Bank 

C. Development Bank  D. Specialised Bank 

65- ml dEiuh dk uke crkvksa ftldk O;olkl ,oa mRiknu ,d ls T;knk ns’kksa esa 

gS %& 

A. ljdkjh dEiuh   B- cgqjk"Vªh; dEiuh  

C. Hkkjrh; dEiuh   D- buesa ls dksbZ ugha 

Name the company whose business and production are in more 

than one country :- 

A. Government Company B. Multinational Company 

C. Indian Company  D. None of these 

66- O;olk; dk fuEu ds izfr mÙkjnkf;Ro gS %& 

A. ljdkj    B- lekt  

C. va’k/kkjh    D- mijksDr lHkh 

Responsibilities of business towards :- 

A. Government    B. Society 
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C. Share holders   D. All the above 

67- [kqnjk O;kikjh eky csprs gSa %& 

A. miHkksDrkvksa dks   B- Fkksd O;kikjh dks  

C. dEiuh dks    D- buesa ls dksbZ ugha 

Retailers sell goods to :- 

A. To consumers   B. To wholesaler 

C. To company   D. None of these 

68- fuEukafdr esa ls dkSu&lh O;kolkf;d lsok ugha gS \ 

A. cSafdax    B- mRiknu  

C. ;krk;kr    D- lapkj 

Which of the following is not a business services ? 

A. Banking    B. Production 

C. Transport    D. Communication 

69- mRikndksa dks foÙkh; lgk;rk iznku djrk gS %& 

A. Fkksd O;kikjh   B- xzkgd  

C. QqVdj O;kikjh   D- buesa ls dksbZ ugha 
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Financial assistance to producer is provided by :- 

A. Wholesaler   B. Customer 

C. Retailer    D. None of these 

70- nks jkT;ksa ds chp gksus okys O;kikj dks dgrs gSa %& 

A. ckg~;    B- vkUrfjd  

C. vUrjkZ"Vªh;    D- buesa ls dksbZ ugha 

Trade between two states is known as :- 

A. External    B. Internal 

C. International   D. None of these 

71- 693-607 dks iw.kkZad rd eku crk,¡ %& 

A. 693-607    B- 0-607  

C.694     D- 693 

Find out the value of 693.607 correct to the nearest integer - 

A. 693-607    B- 0-607  

C.694     D- 693 

72- 27 % 81 dks U;wure :Ik esa O;Dr djsa %& 
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A. 2 % 3    B- 1 % 3  

C. 3 % 9    D- 2 % 9 

Express 27 : 81 in its minimum form :- 

A. 2 % 3     B- 1 % 3  

C. 3 % 9    D- 2 % 9 

73- lhrk vkSj xhrk ds osru dk vuqikr 9 % 5 gSA ;fn xhrk dk osru 600 gks rks 

lhrk dk osru gksxk %& 

A. 1400    B- 1200  

C. 1000    D- 1080 

The ratio in the salary of Sita and Gita is 9 : 5. If Gita’s salary is 

600, then Sita’s salary will be :- 

A. 1400    B. 1200 

C. 1000    D. 1080 

74- ;fn 10 xzke dk ewY; 1-245 gS] rks 1 fdyksxzke dk ewY; gS %& 

A. 1245-00    B- 124-50  

C. 12-45    D- 1-245 
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If the price of 10 gram is 1.245, then the price of 1 kg is - 

A. 1245.00    B. 124.50 

C. 12.45    D. 1.245 

75- fdlh o"kZ ds fy, eghuksa dk ;ksx gS %& 

A. 74     B- 78  

C. 76     D- 72 

Sum total of month for a year is :- 

A. 74     B- 78  

C. 76     D- 72 

76- 5000 ds foØ; ij 12-5 izfr’kr dh nj ls deh’ku gskxk %& 

A. 625    B- 1225  

C. 925     D- 825 

12.5% commission on a sale of 5000 will be :- 

A. 625    B. 1225 

C. 925    D. 825 

77- jeuk us 70 esa 70 iSls ykHk dek,A mldk ykHk izfr’kr Fkk %& 
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A. . 0.1%    B. 1% 

C. 7%     D. 10% 

Ramana gain 70 paise on 70, his gain percent is :- 

A. 0.1%    B. 1% 

C. 7%     D. 10% 

78- bjkd dh eqnzk gS %& 

A. fnjge    B- fnukj  

C. fj;ky    D- islks 

The currency of Iraq is :- 

A. Dirham    B. Dinar 

C. Riyal    D. Peso 

79- fdrus le; esa 6 izfr’kr izfr o"kZ lk/kkj.k C;kt dh nj ls 500 dk feJ/ku 

650 gks tk;sxk \ 

A. 6 o"kZ    B- 5 o"kZ  

C. 4 o"kZ     D- buesa ls dksbZ ugha 

In which time will 500 amount will become 650 at 6% p.a. simple 

interest ? 
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A. 6 years    B. 5 years 

C. 4 years    D. None of these 

80- ;fn Ø; ewY; rFkk foØ; ewY; esa 4 % 5 dk vuqikr gks rks ykHk izfr’kr D;k 

gksxk \ 

A. 10%    B. 20% 

C. 25%    D. 30% 

The ratio of the purchase price and selling price is 4 : 5. The profit 

percent will be ?  

A. 10%    B. 20% 

C. 25%    D. 30% 

81- ys[kkadu 'kq: gksrk gS] tgk¡ %& 

A. iqLrikyu [kRe gksrk gS  B- O;olkf;d O;ogkj [kRe gksrk gS 

C. ys[kkdeZ [kRe gksrk gS  D- ys[kk vof/k [kRe gksrh gS 

Accounting begins where :- 

A. Book-Keeping ends  B. Business transactions ends 

C. Accounting ends  D. Accounting period ends 

82- ys[kkadu dh Hkk"kk gS %& 
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A. eqnzk     B- ysu&nsu  

C. O;kikj    D- vaxzsth 

The language of Accounting is :- 

A. Money    B. Transaction 

C. Business    D. English 

83- ml O;fDr dks D;k dgrs gSa] ftlls O;kikj dks :Ik;k ysuk gS \ 

A. ysunkj    B- nsunkj  

C. xzkgd    D- buesa ls dksbZ ugha 

The person from whom business has to receive cash is called ? 

A. Creditors    B. Debtors 

C. Customers   D. None of these 

84- fuEu esa ls dkSu LFkk;h lEifÙk gS \ 

A. iwoZnÙk O;;    B- Hkou  

C. ysunkj    D- izkI; fcy 

Which of the following is Fixed Assets ? 

A. Prepaid Expenses  B. Building 
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C. Creditors    D. Bills Receivable 

85- fuEufyf[kr esa dkSu pkyw lEifÙk ugha gS \ 

A. izkjfEHkd O;;   B- jksdM+  

C. cSad     D- nsunkj 

Which of the following is not a Current Asset ? 

A. Preliminary Expenses  B. Cash 

C. Bank    D. Debtor 

86- Ø; [kkrk gS %& 

A. okLrfod [kkrk   B- O;fDrxr [kkrk  

C. ukeek= [kkrk   D- buesa ls dksbZ ugha 

Purchase Account is :- 

A. Real Account   B. Personal Account 

C. Nominal Account  D. None of these 

87- fdlh le; ds nkSjku vk; ij O;; ds vkf/kD; dks dgrs gSa %& 

A. ykHk     B- gkfu  

C. iw¡th     D- O;; 
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The excess of expenditure over income during a period of time is 

called :- 

A. Profit    B. Loss 

C. Capital    D. Expenses 

88- [kkrk cgh esa fdlh [kkrs ds i{kksa dh la[;k gksrh gS %& 

A. ,d     B- nks  

C. rhu     D- pkj 

Number of sides of a Ledger Account is :- 

A. One     B. Two 

C. Three    D. Four 

89- [kkrk cgh eq[; iqLrd gS ftlesa %& 

A. lHkh [kkrs j[ks tkrs gSaA  B- O;fDrxr [kkrs j[ks tkrs gSaA  

C. ukeek= [kkrs j[ks tkrs gSaA D- okLrfod [kkrs j[ks tkrs gSaA 

Ledger is a principal book in which :- 

A. All accounts are kept   

B. Personal accounts are kept 

C. Nominal accounts are kept 
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D. Real accounts are kept 

90- izkI; fcy gS %& 

A. pkyw lEifÙk    B- LFkk;h lEifÙk  

C. A vkSj B nksuksa   D- buesa ls dksbZ ugha 

A Bills Receivable is :- 

A. Current Asset   B. Fixed Asset 

C. Both of A and B   D. None of these 

91- Hkkjrh; eqnzk gS %& 

A. fofue; foi=   B- psd  

C. izfrKk i=    D- buesa ls dksbZ ugha 

Indian currency is a :- 

A. Bill of Exchange  B. Cheque 

C. Promissory Note  D. None of these 

92- foÙkh; fooj.k esa lfEefyr gS %& 

A. ryiV    B- ykHk&gkfu [kkrk  

C. vkfFkZd fpV~Bk   D- B vkSj C nksuksa 



38 
 

The financial statements consist of :- 

A. Trial Balance   B. Profit & Loss Account 

C. Balance Sheet   D. Both B and C 

93- vnÙk O;; og gS %& 

A. tks pqdk;k ugha tk;sxk  B- tks pqdk;k tk pqdk gS 

C. tks pqdk;k tk;sxk   D- buesa ls dksbZ ugha 

Out-standing expences is that :- 

A. Which will not be paid  B. Which has been paid 

C. Which will be paid  D. None of these 

94- 75]000 udn ls O;kikj izkjEHk fd;k] fdl [kkrs dks tek ¼ØsfMV½ fd;k 

tk,xk \ 

A. jksdM+ [kkrk    B- iw¡th [kkrk  

C. O;kikj [kkrk   D- buesa ls dksbZ ugha 

Business started with cash 75,000 which account will be 

credited? 

A. Cash A/C    B. Capital A/C 

C. Trading A/C   D. None of these 
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95- etnwjh dk Hkwxrku fd;k] fdl [kkr dks uke ¼MsfcV½ fd;k tk;sxk\ 

A. etnwjh    B- jksdM+ [kkrk  

C. etnwj [kkrk   D- buesa ls dksbZ ugha 

Wages paid, which Account will be debited ? 

A. Wages A/C   B. Cash A/C 

C. Workers A/C   D. None of these 

96- ^ØsfMV* ¼;k /kuh½ ls vk’k; gS %& 

A. lEifÙk esa o`f)   B- nkf;Ro esa o`f)  

C. nkf;Ro esa deh   D- buesa ls dksbZ ugha 

Credit means :- 

A. an increase in asset  B. an increase in liability 

C. a decrease in liability  D. None of these 

97- ,d xzkgd }kjk okil fd, x, eky dks uke ¼MsfcV½ fd;k tk;sxk %& 

A. jksdM+ [kkrk    B- foØ; okilh [kkrk  

C. xzkgd dk [kkrk   D- buesa ls dksbZ ugha 

The return of Goods by a customer should be debited to :- 
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A. Cash A/C    B. Sales Returns A/C 

C. Customer’s A/C   D. None of these 

98- ldy ykHk ;k gkfu dk fu/kkZj.k fuEufyf[kr dks cukdj fd;k tkrk gS %& 

A. ryiV    B- O;kikfjd [kkrk  

C. ykHk ,oa gkfu [kkrk  D- vkfFkZd fpV~Bk 

Gross Profit or Loss is ascertained by preparing :- 

A. Trial Balance   B. Trading A/C 

C. Profit & Loss A/C  D. Balance Sheet 

99- Pkkyw lEifÙk;ksa dk pkyw nkf;Ro ij vkf/kD; dgykrk gS %& 

A. iw¡th     B- 'kq) dk;Z’khy iw¡th  

C. vkgj.k    D- buesa ls dksbZ ugha 

The excess of current assets over current liabilities is called :- 

A. Capital    B. Net-working capital 

C. Drawings    D. None of these 

100- ;fn foØ; gS 4]00]000 vkSj fcds eky dh ykxr gS 2]95]000 rks ldy ykHk 

gS & 
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A. 1]05]000   B- 95]000  

C. 1]15]000   D- buesa ls dksbZ ugha 

If sales are 4,00,000 and cost of goods sold 2,95,000 the gross 

profit is - 

A. 1,05,000   B. 95,000 

C. 1,15,000   D. None of these 

Section-B 

Short Answer Type Questions 

iz’u la[;k 1 ls 30 rd y?kq mÙkjh; gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 2 vad fu/kkZfjr gSaA        (15x2=30) 

Question no. 1 to 30 are Short Answer Type. Answer any 15 questions. 

Each question carries 2 marks.    (15x2=30) 

1- iqLrikyu ds fdUgha nks mís’;ksa dks fyf[k,A      2 

Write any two objectives of Book-Keeping 

2- nksgjk ys[kk iz.kkyh ds fdUgha nks ykHkksa dk mYys[k dhft,A   2 

State any two advantages of Double-entry system. 

3- jkstukepk cukus ds dksbZ nks mís’; fyf[k,A     2 

Write any two purposes of preparing Journal. 



42 
 

4- is'kk dks ifjHkkf"kr djsaA        2 

Define profession. 

5- bZ&cSafdax ls vki D;k le>rs gSa \       2 

What do you mean by E-banking ? 

6- Ø; cgh dk vFkZ crkb,A        2 

State the meaning of Purchase Book. 

7- O;kikfjd NwV fdls dgrs gSa \       2 

What is trade discount ? 

8- 10]000 dk QuhZpj Ø; fd;k] jkstukeps dh izfof"V D;k gksxh \  2 

Furniture purchased for 10,000, the Journal Entry will be? 

9- t; ls eky m/kkj [kjhnk 3]000 dk] jkstukeps dh izfof"V D;k gksxh\  2 

What will be journal entry of purchase of goods on credit from Jay 

worth 3,000 ? 

10- O;kikj [kkrk cukus ds mís’; D;k gSa \      2 

What are the objective of preparing Trading Account ? 

11- dEiuh ds fpV~Bs ds nkf;Ro i{k ds dksbZ nks enksa ds uke crkb,A  2 

State any two items related to liability side of company’s Balance-

Sheet. 

12- csps x, eky dh ykxr dh x.kuk dSls dh tkrh gS \    2 

How is cost of goods sold calculated ? 

13- pkyw lEifÙk;ksa ds pkj mnkgj.k fnth,A      2 
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Give four example of current Assets. 

14- chek fizfe;e fdl O;olk; ls lacaf/kr gS \      2 

Insurance premium is related to which business ? 

15- Fkksd O;kikj ds nks dk;ksZa dks crk;saA       2 

State two functions of wholesale business. 

16- chek D;k gS\ ifjHkkf"kr djsaA        2 

What is insurance? Define. 

17- O;kikj ,oa m|ksx esa nks varj fy[ksaA       2 

Write two differences between Trade & Industry. 

18- Lo&jkstxkj D;k gS \         2 

What is self-employment ? 

19- dEiuh dh lkoZeqnzk dks le>kb,A       2 

Explain the common seal of a company. 

20- Hkkjr esa ,adkdh O;kikj dk Hkfo"; dSlk gS \     2 

How is the future of Sole Trade in India ? 

21- miHkksDrk dk D;k vFkZ gS\        2 

What is the meaning of Consumer ?       

22- 1]390 izfr fDaoVy dh nj ls 275-6 fDoaVy xsagw dk ewY; Kkr djsaA 2 

Find the price of 275.6 quintal of wheat @ 1,390 per quintal. 

23- jke us ,d lkeku 5]400 esa [kjhnk vkSj 4]500 esa cspkA izfr’kr ?kkVk Kkr 

djsaA           2 
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Ram bought an article at 5,400 and sold it at 4,500. Find out his 

percentage loss. 

24- ,d O;olk;h 12]000 lwph ewY; ij 20 izfr’kr O;kikfjd cV~Vk ,oa 10 

izfr’kr udnh cV~Vk nsrk gSA oLrq dk foØ; ewY; fudkysaA   2 

A businessman allows 20% trade discount and 10% cash discount 

on the list price of 12,000. Find out the selling price of article. 

25- 14
ଵ

ସ
 izfr’kr vkSj 20

ଵ

ଷ
 izfr’kr dks fHkUu esa izdV djsaA    2 

Change 14
ଵ

ସ
 % and 20

ଵ

ଷ
 % into fraction. 

26- iw.kkZad ds lfUudV eku fudkysa 13038-94      2 

Find out the nearest to integer value of 13038.94. 

27- 66]000 pkj o"kksZa ds fy, 12 izfr’kr izfr o"kZ C;kt ij m/kkj fn;k tkrk gS] 

rks lk/kkj.k C;kt dh jkf’k D;k gksxh \      2 

A loan of 66,000 is given for four years @ 12% interest per 

annum. Find out the amount of simple interest ? 

28- vkfFkZd fØ;k dk D;k vFkZ gS \       2 

What is the meaning of economic activity? 

29- fdlh O;fDr us ,d oLrq 45]000 esa [kjhnk vkSj 54]000 esa cspkA izfr’kr ykHk 

fudkysaA           2 

A man bought an article at 45,000 and sold at 54,000. Find out 

percentage profit. 
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30- dksbZ nks ewÙkZ lEifÙk dk uke fy[ksaA       2 

Write the names of any two tangible assets.

Long Answer Type Questions

iz’u la[;k 31 ls 38 rd nh?kZ mÙkjh; iz’u gSaA fdUgha 4 iz’uksa ds mÙkj nsaA bl dksfV ds 

izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSaA      (4x5=20) 

Question no. 31 to 38 are long answer type questions. Answer any 4 

questions. Each question carries 5 marks.    (4x5=20) 

31- fuEufyf[kr enksa ls 31 ekpZ 2020 dks lekIr gq, o"kZ ds fy, iVuk ds jktho 

cnzlZ dk vkfFkZd fpV~Bk cukb, % 

Ukke 'ks"k jde ¼ ½ tek'ks"k  jde ¼ ½ 

vkgj.k 5]000 iwath 65]000 

cSad esa jksdM+ 7]000 cSad vf/kfod"kZ 12]000 

nsunkj 19]000 ysunkj 4]000 

Hkwfe ,oa Hkou 35]000 ns; foi= 4]000 

IykaV 15]000 lkekU; lap; 6]000 

e'khujh 5]000 ykHk&gkfu [kkrk 2]000 

vfUre jgfr;k 9]000   

izkI; foi= 6]000   

dqy 1]01]000  1]01]000 

 

From the following items prepare Balance sheet of Rajeev 

Brothers of Patna for the year ended 31st march 2020 : 
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Debit Balance Amount ( ) Credit Balance  Amount ( ) 

Drawing 5]000 Capital 65]000 

Cash at Bank 7]000 Bank over draft 12]000 

Debtors 19]000 Creditors 4]000 

Land & Building 35]000 Bills Payable 4]000 

Plant 15]000 General Reserve 6]000 

Machinery 5]000 Profit & Loss A/C 2]000 

Closing Stock 9]000   

Bills Receivable 6]000   

Total 1]01]000  1]01]000 

 

32- fuEufyf[kr ds fy, tuZy izfof"V;k¡ djsaA 

A. vkx yxus ls 500 dk eky u"V gks x;kA 

B. 1]000 dk dk;kZy; ds fy, QuhZpj [kjhnkA 

C. 11]000 dk eky veu ls udn [kjhnkA 

D. 5000 jkew ls jksdM+ izkIr fd;kA 

E. 500 fdjk;k fn;kA 

Give journal entries for the following :- 

A. Goods destroyed by Fire 500. 

B. Purchased Furniture for office 1,000. 
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C. Purchased goods from Aman for cash 11,000. 

D. Received cash from Ramu 5,000. 

E. Paid rent 500. 

33- jksdM+ cgh D;k gS\ ;g fdrus rjg dh gksrh gS\ 

What is a Cash-Book ? What are its different kinds ? 

34- O;olk; dh fofHkUu fo’ks"krkvksa dk o.kZu djsaA 

Discuss the various features of business. 

35- dEiuh dh ifjHkk"kk nsaA dEiuh dh fo’ks"krvksa dk o.kZu djsaA 

Define company. Discuss the characteristics of a company. 

36- fuEufyf[kr [kkrksa dks (A). O;fDrxr [kkrk (B). okLrfod [kkrk rFkk (C). 

ukeek= [kkrk esa oxhZd`r dhft, % 

jksdM+ [kkrk] iwath [kkrk] vfuy dk [kkrk] Hkou [kkrk] dVkSfr [kkrk] 

jgfr;k [kkrk] cSad [kkrk] etnwjh [kkrk] vkgj.k [kkrk] miLdj [kkrk 

Classify the following accounts into : (A) Personal Account (B) 

Real Account and (C) Nominal Account :- 

Cash Account, Capital Account, Anil’s Account, Building Account, 

Discount Account, Stock Account, Bank Account, Wages Account, 

Drawings Account, Furniture Account. 

37- lksue vkSj jksek ds ykHk foHkktu vuqikr 2 % 3 gSA O;olk; esa dqy ykHk 

75]000 dks lksue ,oa jksek ds chp foHkkftr djsaA 

The profit sharing ratio of Sonam and Roma is 2 : 3. Distribute the 

total Profit of business 75,000 between Sonam and Roma. 

38- 10 izfr’kr okf"kZd C;kt dh nj ls 20]000 dk pkj o"kksZa dk lk/kkj.k C;kt 

fudkysaA 

Find out the simple interest of 20,000 @ 10% yearly for four 

years. 


